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Section : English Language

Q.1 Select the option that expresses the given sentence in active voice.
By whom were these letters written?

Ans 1. Who have written these letters?
2. Who writes these letters?
3. Who has written this letters?

4. Who wrote these letters?

Question ID : 264330151290
Status : Answered
Chosen Option : 4

Q.2 Select the option that expresses the given sentence in active voice.
The mice were chased by the cat.

Ans 1. The cat chased the mice.
2. The cat is chasing the mice.
3. The cat are chased the mice.

4. The cat chases the mice.

Question ID : 264330144828
Status : Answered
Chosen Option : 1

Q.3 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options.
It is imperative in understanding / the rising importance of artificial intelligence / in the
public sector to increase the efficacy / and impact of the work done for public welfare.

Ans 1. the rising importance of artificial intelligence
2. Itis imperative in understanding
3. and impact of the work done for public welfare.

4. in the public sector to increase the efficacy

Question ID : 264330143930
Status : Answered
Chosen Option : 2




Q.4 Select the most appropriate homophone to fill in the blank.
I will any job offer for the one that requires me to work on weekends.
Ans 1. except; accept
2. expect; except
3. expect; accept

4. accept; except

Question ID : 264330144373
Status : Answered
Chosen Option : 4

Q.5 Sentences of a paragraph are given below in jumbled order. Select the option that
arranges the sentences in the correct order to form a meaningful and coherent
paragraph.

A.These changes were sure to happen as technological intervention cannot be
arrested anywhere.

B.Recent times have marked a major change in the teaching-learning process in the
educational sector.

C.A willing acceptance and practicing it to achieve excellence into it is the single
option to all educators.

D.Beyond this, the constant flux in the diversified areas of academics has forced this
change.

Ans 1.A/B,C,D
2.B,A,C,D
3.B,A,D,C

4.A,D,B,C

Question ID : 264330148747
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

She will accept his love proposal if he will express impressively.
Ans 1. if he has been pressed
2. if he had express
3. if he expresses

4. if he expressed

Question ID : 264330143162
Status : Answered
Chosen Option : 3




Q.7 Select the most appropriate ANTONYM of the underlined word.
Everyone should be aware of the possibly greater potential for natural disasters where
they live and what resources they have in case these happen.

Ans 1. Maze
2. Certainty
3. Knot

4. Neuter

Question ID : 264330143248
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate meaning of the given idiom.
Queer pitch

Ans 1. Make a weird request
2. Make a lot of progress
3. Act out of normal

4. Spoil somebody's chance of doing something

Question ID : 264330144284
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Ravindra has left the friends’ meeting saying that he has bigger fish to catch to cook.

Ans 1. he has mutton to cook
2. he has bigger fish to fry
3. he has bigger beef to eat

4. he has big chicken to fry

Question ID : 264330144383
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate ANTONYM of the underlined word in the given sentence.
Due to the weather forecast that it is going to rain heavily here, all the arrangements
are in turmoil.

Ans 1. Peace
2. Commotion
3. Fuss

4. Uproar

Question ID : 264330143228
Status : Answered
Chosen Option : 1




Q.11 Select the most appropriate option that can substitute the underlined segment in the
following sentence.

Could you please tell me which movie you would like to watch tonight?

Ans 1. you may wish to scroll
2. you have desire to see
3. you are wishing to watch

4. are you interested in watching

Question ID : 264330149588
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate ANTONYM of the word ‘Facilitated’ from the given
sentence.

The author's recent bout of writer's block had hindered her typically prolific output of
novels.

Ans 1. Bout
2. Prolific
3. Hindered

4. Output

Question ID : 264330144158
Status : Answered
Chosen Option : 3

Q.13 Parts of the following sentence have been given as options. One of them may contain
an error. Select the option that contains the error. If you don’t find any error, mark ‘No

error’ as your answer.
The soldier met a fearless death fighting on behalf at his country.

Ans 1. The soldier met
2. a fearless death
3. No error

4. fighting on behalf at his country

Question ID : 264330143035
Status : Answered
Chosen Option : 4

Q.14 Choose the correct meaning of the underlined word in the given sentence.
He became a teetotaller after witnessing the negative effects of alcohol on his friends.

Ans 1. Someone who does not consume any alcoholic drink
2. A person who likes to eat and drink
3. A person who is very conscious of his health

4. Someone who does not make friends

Question ID : 264330149745
Status : Answered
Chosen Option : 1




Q.15 Select the correctly spelt word.
Ans 1. Concurently

2. Strateigy
3. Efficient

4. Prodactivity

Question ID : 264330143953
Status : Answered
Chosen Option : 3

Q.16 Select the INCORRECTLY spelt word.
Ans 1. Procedure

2. Procession
3. Prescription

4. Pilgrimmage

Question ID : 264330143239
Status : Answered
Chosen Option : 4

Q.17 Select the option that expresses the given sentence in superlative degree of
comparison.

This type is the quiet and most efficient style of humidifier.
Ans 1. This type is the quiet and efficient style of humidifier.

2. No change needed
3. This type is the quietest and most efficient style of humidifier.

4. This humidifier is the quieter style of.

Question ID : 264330143884
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate synonym of the bracketed word in the following sentence
to fill in the blank.

Itis hard to draw clear lines of (division) between work and leisure.
Ans 1. comprehension
2. administration
3. demarcation

4. procrastination

Question ID : 264330142656
Status : Answered
Chosen Option : 3




Q.19 Select the most appropriate synonym of the underlined word.

Ans

The neighbour’s words always tantalise us.
1. Pacify

2. Provoke
3. Misguide

4. Direct

Question ID : 264330143176
Status : Not Answered
Chosen Option : --

Q.20 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct

Ans

order to form a meaningful sentence.
A. pleasure, fun and luxury

B.in life

C. more than anything else

D. modern Indian youth seek

1. CDBA
2. DACB
3. BDCA
4. ABCD

Question ID : 264330149916
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Clean India Mission is one of the most (1) and popular missions to have taken place
in India. This mission includes a reward to a state and a city. This encourages every citizen to
keep the surroundings clean. This cleanliness campaign was (2) by the Indian
government at the national level, (3) all the rural towns and urban cities. Its primary
objective is to spread awareness and importance of cleanliness. Slogans are written on the
banners and pictures are painted in a very attractive manner to evoke the feeling of
cleanliness. After that, a major objective was to teach citizens to (4) of waste
mindfully and to provide basic (5) facilities. For this, wet and dry dustbins are kept
by every citizen whether it is home or office.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans

1. insignificant
2. meaningless
3. significant

4. demonstrative

Question ID : 264330151296
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Clean India Mission is one of the most (1) and popular missions to have taken place
in India. This mission includes a reward to a state and a city. This encourages every citizen to
keep the surroundings clean. This cleanliness campaign was (2) by the Indian
government at the national level, (3) all the rural towns and urban cities. Its primary
objective is to spread awareness and importance of cleanliness. Slogans are written on the
banners and pictures are painted in a very attractive manner to evoke the feeling of
cleanliness. After that, a major objective was to teach citizens to (4) of waste
mindfully and to provide basic (5) facilities. For this, wet and dry dustbins are kept
by every citizen whether it is home or office.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. governed

2. rehearsed
3. dominated

4. unorganised

Question ID : 264330151297
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Clean India Mission is one of the most (1) and popular missions to have taken place
in India. This mission includes a reward to a state and a city. This encourages every citizen to
keep the surroundings clean. This cleanliness campaign was (2) by the Indian
government at the national level, (3) all the rural towns and urban cities. Its primary
objective is to spread awareness and importance of cleanliness. Slogans are written on the
banners and pictures are painted in a very attractive manner to evoke the feeling of
cleanliness. After that, a major objective was to teach citizens to (4) of waste
mindfully and to provide basic (5) facilities. For this, wet and dry dustbins are kept
by every citizen whether it is home or office.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. encompassing

2. preventing
3. excluding

4. restraining

Question ID : 264330151298
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Clean India Mission is one of the most (1) and popular missions to have taken place
in India. This mission includes a reward to a state and a city. This encourages every citizen to
keep the surroundings clean. This cleanliness campaign was (2) by the Indian
government at the national level, (3) all the rural towns and urban cities. Its primary
objective is to spread awareness and importance of cleanliness. Slogans are written on the
banners and pictures are painted in a very attractive manner to evoke the feeling of
cleanliness. After that, a major objective was to teach citizens to (4) of waste
mindfully and to provide basic (5) facilities. For this, wet and dry dustbins are kept
by every citizen whether it is home or office.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. show

2. disturb
3. dispose

4. finish

Question ID : 264330151299
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Clean India Mission is one of the most (1) and popular missions to have taken place
in India. This mission includes a reward to a state and a city. This encourages every citizen to
keep the surroundings clean. This cleanliness campaign was (2) by the Indian
government at the national level, (3) all the rural towns and urban cities. Its primary
objective is to spread awareness and importance of cleanliness. Slogans are written on the
banners and pictures are painted in a very attractive manner to evoke the feeling of
cleanliness. After that, a major objective was to teach citizens to (4) of waste
mindfully and to provide basic (5) facilities. For this, wet and dry dustbins are kept
by every citizen whether it is home or office.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. sanitation

2. refinement
3. purification

4. contamination

Question ID : 264330151300
Status : Answered
Chosen Option : 1

Section : General Intelligence




Q.1

Ans 1.3
2. 1
3.
2 Question ID : 264330147192
4., 6 Status : Answered
Chosen Option : 1
Q.2
Ans
1.
8]
—O
—
3- %{;
4. %D

Question ID : 264330146490
Status : Answered
Chosen Option : 3




Q.3

Ans 1. 78
2. (69
3. 62
4. 72 Question ID : 264330147353
Status : Answered
Chosen Option : 2
Q.4
Ans 1.
2. Six
3.
4.
Question ID : 264330147345
Status : Not Answered
Chosen Option : --
Q.5
Ans 1.
2.
3. Question ID : 264330147360
4 Status : Answered

Chosen Option : 1




Q.6

Ans 1..82
2.
3. 81 Question ID : 264330147394
4 Status : Answered
' Chosen Option : 3
Q.7
Ans 1 HEIJ
2. KILM
3. QORS
4. LIMN Question ID : 264330150975
Status : Answered
Chosen Option : 2
Q.8
Ans 1.
2.
3. Question ID : 264330147115
Status : Answered
4 Chosen Option : 2
Q.9
ANS 1 14:65
2.15:80
3.16:75 Question ID : 264330150907
Status : Answered
4.18:85

Chosen Option : 2




Q.10

Ans 1.
2.
3.
4.,
Question ID : 264330147442
Status : Answered
Chosen Option : 1
Q.11
Ans 1
2.
3.
Question ID : 264330146592
4. Status : Answered
Chosen Option : 1
Q.12
Ans 1. 6:12
2.
3.
4,

Question ID : 264330147131
Status : Answered
Chosen Option : 3




Q.13

Ans
Question ID : 264330146570
Status : Not Answered
Chosen Option : --
Q.14
Ans 1
2.
% Tomato : Chilli Question ID : 264330150985
4. Cake : Bake Status : Answered
Chosen Option : 2
Q.15
Ans 1 TVZ
2. KMQ
3. EGJ
4. BDH Question ID : 264330151976

Status : Answered
Chosen Option : 3




Q.16

Ans

=

Father

Question ID : 264330152012
Status : Answered
Chosen Option : 4

Q.17

Ans

=

Mother
Father
Daughter

4. Son

n

w

Question ID : 264330152104
Status : Answered
Chosen Option : 4




Q.18

Ans

Question ID : 264330146697
Status : Answered
Chosen Option : 2

Q.19

Ans

Question ID : 264330146739
Status : Not Answered
Chosen Option : --

Q.20

Ans

Question ID : 264330146565
Status : Not Answered
Chosen Option : --




Q.21

Ans
13
Question ID : 264330147252
Status : Answered
Chosen Option : 3
Q.22
Ans

Question ID : 264330147400
Status : Not Answered
Chosen Option : --




Q.23

Ans 1. 14
2. 12
313
4. 18
Question ID : 264330151008
Status : Answered
Chosen Option : 3
Q.24
Ans 1.
2. 131
s 124 Question ID : 264330146413
4. 12? Status : Answered
' Chosen Option : 4
Q.25
Ans 1.
2.
3.
4.

Question ID : 264330147057
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q1
Ans 112,000
2. 22,000
3. 20,000
4. 21,000

Question ID : 264330148134
Status : Not Answered
Chosen Option : --




Q.2

If(53+ L 2) =13 and a = 0, what is the value of (25a2+ 1—:) ?

Ans 1. 158
2. 157
3.185
4 175
Question ID : 264330147808
Status : Answered
Chosen Option : 3
Q.3
Ans 1 3
2 4
3.6
4. 8
Question ID : 264330147818
Status : Answered
Chosen Option : 3
Q.4
Ans 1.
2.
3.
Question ID : 264330147616
4. 522 Status : Not Answered
Chosen Option : --
Q.5
Ans 1. X-y
2.
3.
4,

Question ID : 264330147919
Status : Answered
Chosen Option : 2




Q.6

Ans 1.3
2. 2
3.0
Question ID : 264330147646
4 Status : Answered
Chosen Option : 2
Q.7
Ans 1. 4
2.1
3. 3
4.2
Question ID : 264330147686
Status : Answered
Chosen Option : 4
Q.8
Ans 1. 9Q°
2. 110°
3. 1707
4. 135° Question ID : 264330150413
Status : Answered
Chosen Option : 4
Q.9
Ans 1 45:49
2. 57:32
3. 4932 Question ID : 264330150785

Status : Answered
4.32:20 Chosen Option : 4




Q.10

Ans 1. 69

Question ID : 264330148222
Status : Answered
Chosen Option : 2

Q1 Inatriangle ABC; 8 24 =6 2B = 34C. What are the degree measuresof £ A, 2B and £C?

Ans 1.
2.
3.
4.,
Question ID : 264330147789
Status : Answered
Chosen Option : 3
Q.12
Ans 1. 26
2. 28
3. 29
4. 7
24 Question ID : 264330147964
Status : Not Answered
Chosen Option : --
Q.13
Ans 1.
2.
3.
4 Question ID : 264330146522

Status : Not Answered
Chosen Option : --




Q.14

Ans 1.5
2. 7
3. 6 Question ID : 264330146805
Status : Not Answered
4. 8 Chosen Option : --
Q.15
Ans 1.
2.
3.
4 Question ID : 264330148196
' Status : Answered
Chosen Option : 3
Q.16
Ans

Question ID : 264330148855
Status : Answered
Chosen Option : 2




Q.17

Ans 1. 18%
2. 16%
3.17.5%
4. 12.504 Question ID : 264330149771
Status : Answered
Chosen Option : 3
Q.18
Ans 1.
2.
3.
Question ID : 264330146531
4. Status : Answered
Chosen Option : 4
Q.19
Ans 1.
2.
3.
4. Question ID : 264330148276
Status : Not Answered
Chosen Option : --
Q.20
Ans 1. coslO
2. Seﬂl@
3. cotZ@
4. Sj_nzg

Question ID : 264330147687
Status : Answered
Chosen Option : 1




Q.21

Ans 1. E
2 B
3 A
4. H
Question ID : 264330150839
Status : Answered
Chosen Option : 3
Q.22
Ans 1. 33,750
2. 36,250
3. 34,850
4. 32,500
’ Question ID : 264330151050
Status : Answered
Chosen Option : 1
Q.23
Ans 1.
2.
3.
4. 12%
Question ID : 264330148000
Status : Answered
Chosen Option : 3
Q.24
Ans 1.
2.
3.
4,

Question ID : 264330147725
Status : Answered
Chosen Option : 2




Q.25

Ans 1.

4. Question ID : 264330147973
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1

Ans
1.
2.
3.
4.

Question ID : 264330145932
Status : Answered
Chosen Option : 3

Q2 The Golden Quadrilateral connects which of the following cities?
Ans 1. Jammu-Sikkim Gangtok-Bhubaneswar -Mumbai

2. Delhi-Kolkata-Mumbai-Chennai
3. Kashmir Srinagar-Surat-Chennai-Kolkata

4. Chandigarh-Kolkata-Mumbai-Goa Panaji

Question ID : 264330149628
Status : Answered
Chosen Option : 2

Q3
Ans 1.
2.
3. Question ID : 264330149376
4 Status : Not Answered
' Chosen Option : --




Q4

Ans

Question ID : 264330146285
Status : Answered
Chosen Option : 2

Q5 WWho is called the father of the modern Indian dance?

Ans 1. Uday Shankar
2.
3.
4.
Question ID : 264330148651
Status : Answered
Chosen Option : 1
Q.6
Ans 1.
2.
3.
4. Question ID : 264330146383
Status : Answered
Chosen Option : 4
Q.7
Ans 1.
2.
3.
4. Question ID : 264330145781

Status : Not Answered
Chosen Option : --




QS8

Ans 1.
2.
3.
4.
Question ID : 264330146110
Status : Not Answered
Chosen Option : --
Q.9
Ans 1 Manoj Sinha
2.
3.
4. Question ID : 264330146264
Status : Answered
Chosen Option : 2
Q.10
Ans 1 1659
2. 1869
3. 1889
4. 1879
Question ID : 264330150232
Status : Answered
Chosen Option : 2
Q.11
Ans 1.
2.
3.
4,

Question ID : 264330144778
Status : Answered
Chosen Option : 1




Q.12

Ans 1

4. Question ID : 264330145617
Status : Not Answered
Chosen Option : --

Q13 Which of the following is the product as a result of the process of hydrolysis of orthoclase.

Ans 1. Limonite

2.
3. Gypsum
4. ini
Kaolinite Question ID : 264330149256
Status : Not Answered
Chosen Option : --
Q.14
Ans 1.
2.
3.
4,
Question ID : 264330144719
Status : Not Answered
Chosen Option : --
Q.15
Ans 1.
2.
3.
4.

Question ID : 264330145972
Status : Answered
Chosen Option : 1




9% ‘The Deccan Sabha' was founded by which of the following nationalists?

Ans 1.

2.

3. Surendranath Banerjee

4.
Question ID : 264330152552
Status : Answered
Chosen Option : 2
Q.17
Ans 1. Babur
2. Sher Shah Suri
3. Akbar
4. Humavun
yu Question ID : 264330150095
Status : Not Answered
Chosen Option : --
Q.18
Ans 1.
2.
3.
4 Question ID : 264330145825
Status : Not Answered
Chosen Option : --
Q.19
Ans 1.
2.
3.
4.

Question ID : 264330145730
Status : Not Answered
Chosen Option : --




Q.20

Ans

Question ID : 264330145908
Status : Answered
Chosen Option : 3

Q.21

Ans

Question ID : 264330151327
Status : Not Answered
Chosen Option : --

Q.22

Ans

Question ID : 264330146114
Status : Answered
Chosen Option : 1

Q.23

Ans

Question ID : 264330144703
Status : Not Answered
Chosen Option : --




Q24 Which of the following places in India experiences the lowest temperature?

Ans 1. Jaisalmer

2. Leh

3. Munnar

4. Bundelkhand

Question ID : 264330150246
Status : Answered
Chosen Option : 2
Q.25
Ans 1.

2.
3.
4.

Question ID : 264330145596
Status : Not Answered
Chosen Option : --
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